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Pracovni list

Piredmét: Matematika

Ro¢nik: 6.A

Opakovani vzdélavaciho celku: S¢itani a odc¢itani celych Cisel
Jednodussi priklady:

1) Vypoctéte:

15-16= -1
—3+(-6) = -9
2—(-H) = 7
17— (+2) = 5
39 — (—42) = 81
—-5—(-6) = 1
12-15 = -3
—74+(-8) = -15
—1142= 9
L (—4)= 3
—2+(-9) = -11
3—(+6) = -3
11— (+12) = -1
+5+ (—15) = -10
+12+ (—16) = -4
—3—(-8) = 5

2) Vypoctéte:

—1-15= -16
~9 - (~3) = 5
7 (-2) = 5
54 (=17) = 1
15 — (+16) = 1
1= (=5)= 6
—27—(-12) = 15
—15—(=7) = -8
—9—(—11) = 2
-2+ (—15) = -17
3—(-1)= 4
—11+(-2) = -13
-3+ (-3) = -6
—14+(-11) = -12
30 — (+23) = 7
—98 — 2 = -100
124 (-5) = 7
—1+(=3)= -4
20 — (+16) = 4
21 — (—22) = 43
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4) Vypoctete
—12—-5+(-6) =
T—6—11=

5+ (— ) (+3) =
10 + (—10) — (+10) =
—1—(+3) + (-6)
104+ (1) + (-
(=9)+(5-06)
7—(13-15)
14+ (23 — 32)
—12— (—-4+8) =
154+ (-=9-06)

f:’lc:

5) Vypoctéte:
174+ (=9)+ (—25) + (- 13)+24:
—8+11+( 9)+ (11
16 + (—19) + (—16) +1
—8+ (=5 + (-4 +10-
—7—(—12) + (-10) + (—
—(=24) — (+17) + (-

Vypracovala: Zuzana SloZilova
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